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The figures in the margin indicate full marks
for the questions :

1. Choose the correct answer from the
following : Y - 1x6=6

(@) Which of the following is an economic
activity? /
(i) Teaching of a teacher in the school
(ii) To teach son at home
(iii) To serve her child by mother
(iv) Ho play football by a student
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(2)

(b) Under the law of demand

(i) price of a commodity is an
independent variable

(i), quantity demanded is a dependent
variable.

(iii) reciprocal relationship is found
between . price . and quantity
demanded

(iv). All of the above

(c) For inferior nOmEdo&amm, the income
effect it
(i) zero
(ii) negative
(iii) infinite
(i) positive
(d) An inelastic good or service is one in
which changes in price witness _
changes in the quantity demanded or
supplied.
(i) a sharp
(ii) no

(i) only modest
(iv) Any of the above

KB23/267 ( Continued )

(3)

(e) Which of the following is not a source of
production?

() Land
(ii) rwsocw
..,.... (). Money
‘(iv) Capital
) If all caﬁm.mﬁo,mo_n at same price, how
' will it 'affect'AR and' MR?

() AR > MR
1Y \N.N.\.%"gmﬂ i i
(i) AR+ MR = 0
(iv) AR < MR
2. Answer the following questions : 2x5=10

(a) What is independent variable?

(b) State the relationship between total
utility and marginal utility.

() What is transitivity assumption of
indifference curve?

(d) Define explicit cost with an example.

(e) Mention the two conditions of profit
maximization. A
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(4)

3. Answer any six of the following questions :

(@)

(b)

(c)

(d)

(e)

5x6=30

Distinguish between endogenous and
exogenous variables.

“Scarcity is the mother of all economic
problems.” Examine the statement.

State and explain the relationship
between total utility and marginal
utility. .

State the limitations of indifference
curve analysis.

Discuss in brief the properties of an
isoquant.

2&8 the concept of production
possibility curve with the help of

_ suitable diagram.

(9)
)

¥

What are the relationships among TR,
AR and MR?

What are the differences between
private cost and social cost?

Write a brief note on
equilibrium (the
ooBcmeoE.

producer’s
optimal input

KB23/267

( Continued )

4. Answer any two of the following questions : :
10x2=20

KB23—1300/267

(5)

(a) Define economic statics and economic
dynamics. What are their differences?

2+8=10

(b) What is demand curve? How would you

derive a demand curve with the help of
indifference curve?

(c) Define the law of production. Explain

the law of variable proportions with the
help of suitable diagram.

S. Answer any one of the following questions :

(a) What is meant by an indifference curve?
Explain how one consumer attains
equilibrium using indifference curve.

" "Mention the superiority of indifference
curve analysis over the Marshallian
cardinal utility analysis.

(b) Explain = the laws of returns of
production theory. State the reasons for
the operation of the law of diminishing
returns. Examine how the law of
diminishing returns is applicable to
agriculture.

* % %

2+8=

2+8=10

10

14

2+10+2=14

8+2+4=14
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1. Choose the correct answer :
wa Teihl A Sfere
(@ GNP is equal to
T BT Boo 2
() GDP + NFIA
T T TeomE o+ m%z N
oI e s 5
(i) GDP + Depreciation
Y0 TFq SRATH + I
(i) NNP + Depreciation
b wom Teome + Sy
(iv) None of the above
@] OIS T

1x6=6
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(ii) J. M. Keynes

(iii) J. R Hicks

(iv) Samuelson

(e

) NNP is also known as
T S 125 GoE e

(i) NNPpp
aR e g5 @ Teom fte
M

(i) national income
0 o Ieie o I

(ifi) GNPy,
TR TS T GO Cerma s el
Rt A

(iv) Nene of the above
8199 18 Ry

22KB/578
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(3)

(d) “Supply creates its own demand.”
Who said this statement?

“aeme SRR R 90 17 @3 SRech T
3 2
(i) J. M. Keynes
@ G, @FETR
(i) Adam Smith
o oy
(iii) A. C. Pigou
Q. 5. e
(iv) J. B. Say
@ R®

(e) Aggregate demand curve is
AT T @41 7=
(i) parallel to ox axis
0X Y B

(ii) upward sloping

8oqle] ©f8

(it} downward sloping

Seiter I R

.}.& convex
T
( Turn Over )



~

< — <@

(ii) X = M
3 = ST

(iv) None of the above
&13E OIS T

2. Answer the following questions : 2x5=10

TR AERS Ted Tl
~ (a) What is national income?
GE =E 2
(b) Distinguish between final goods and
intermediate goods.
PUIE T T FYRE] GO W6 A1 (T4 |

(c) What is personal disposable income?
Jfeere TN o 62

(d) Define consumption function.
Topert e 59

(e) Write two assumptions of Keynes theory
of income and employment.

(P T I e %1 1 sfsaRen Bt |

22KB/578 ( Continued )
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(S)

- Answer the following questions (any siq :

5%6=30
T AIERT Tay mﬁﬁAmwﬁqaﬂdﬂmgv“

(@) Explain the circular flow of income in
three-sector economy.

&y wifve s ofw smm W
HIAACRIET |

(b) Explain briefly the income method to
calculate GDP in a country.

(Pl 9IS o TN TRATH SIS 9T TR
aﬂﬁwggmﬂwﬂdmwﬂmaA:Mmﬂ_

(c) Explain GNP as a measure of economic
welfare.

P WY Seorme welAfes TemeR ot o
ol fRoweet amam <4 |

(d) Distinguish between nominal GDP and
real GDP.

TR [ T A G oS P T
TRATTT GG 2T (Y84 | |

(e) What do you mean by Vwo and MPC?
Explain briefly. .
T Torel oRUel WIF e Tegerl el

e & @2 S TR
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(6)

() Write the assumptions of classical

theory of employment. .
frgi e SEOR ASHRTER F

(g9 Write the components of aggregate
demand.

AR IR S ford |

(h) Compare classical theory of employment
with Keynesian theory of employment.

AR TEie TEBR (e @l e
sm%mgﬁﬂ_

() What do you mean by the problem of
double counting? How can it be
avoided?

(7S SR TP e W 7 WS @M
AR R M2

. Answer the following questions (any two) :
10x2=20

TR IR Ted el (R cten got)

(a) Explain circular flow of income in a
two-sector economy.

T <9 @ WA 93Te SRR bR 2
YIRAICHT N7 3647 |

( Continued )

(b)

(c)

. Answer the following questions (any one) :
O I R o (R e )

(@)

(b)

22KB—1100/578

calculate GDP iy, a 8555

CCT 99R P W= Beotm o
o e TR

Critically discuss the ¢

lassical
employment, cal theory of
R keife e TGP, <4 1 1

14

.
.

Write down some of the Euwmmonm of
using GDP as an index of welfare of a
country.

I O TR 3 ROt T e oot
IR T QAR M=o =g, B |

What is meant by effective demand?
How is it determined?

e vz 9 Te v fidea w01 =9

* *k Kk
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%Sam 3 roE.m

The .mms.mm in :8 margin S&n&m ?: marks
?q the n:mm:o:m

1. Choose Ea oo:.oQ answer _w.oB the
following : | -~ 1x6=6

(a) égow of the aozogbm is Eo BommE.o of
- central value?
(i) Median
. (ii) First quartile
(i) Third quartile
(iv) None of the above

(b) The mmoBmﬁo mean of 1/32 and
8/25 is
(i) 1/10
(i) 1/100
(iii) 10
(iv) 100
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(2)

(¢ A norm .
. al curve is defin
ed by th
and the standard deviation. s mean

() True
(i) False
| (@) None ow the mU%m
(d) If'ris relation
e ey 17y e
(i) coefficient of amﬁmgwmod
| @ coefficient of bol-aoﬁoﬂabmm.
(iij) coefficient of alienation N

(iv) None of the abiove

(e) Out of
all the measures of &mﬁmnwmos,

Ew easiest one to calculate is
() standard mm&_wmos

(@) range

(@) variance

(@) nq
(iv) None of the above

KB23/37s
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(3)

2. Answer the following questions : 2x5=10

(@) When is rank correlation used?

(b) Define kurtosis.

(c) mwv_&: two uses of weighted mean.
(d) Whatare the .Qﬁmw of random variable?
(e) Define partial correlation.

questions :

3. Answer any six of ‘the following
. 5x6=30

(a) Given PAV B) ~0.47 and P(B)=0-30. If
the events A and B are independent, |

calculate P(AB).

(b) Explain the characteristics of a good
average. .

(c) State the multiplication or compound
theorem of probability.

_@ A bag contains 6 white, 4 red and
10 black balls. 2 balls are drawn at

random. Find the probability that they

will both be black.
(e) Prove that E(x-u)=0, where E()=u.
) Explain the roles of sampling theory.
Show that in binomial distribution
mean > variance.

(9)
323375 ( Tum Qver )
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(4)

(n) Differentiate petween absolute . and

relative dispersion.

() Explain the role of sampling theory.

i tions :

| two of the following ques :

b AR e o 10x2=20
(a) State the merits and :B#m&obm. of Karl

Pearson’s coefficient of correlation.

| | 5+5=10
(b) A throws a coin thrice. If he gets a head
in all the three throws, he wins ¥ 1,200.

Otherwise, he has to lose ¥ 150. Find
the mathematical expectation of gain

of A. . .
(c) Write the merits and demerits of sample
survey. . 5+5=10
5. Answer any one of the following questions: 14

(@) The probability of failure in physics
practical examination is 20%. If
25 batches of 6 students each appear at

the examination, in how many batches
4 or more students would pass?

(b)) What do you understand by sample
survey? Briefly explain the principal
steps in a sample survey. @ 2+12=14

kok ok
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